N = 0l & At & Ml A

20138 = 20 A EIMNAHAELSH &HA
2M: 33
HE: $EBE 2FYX
G 2AQH BT (FEINHMELES H) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
sSA3 0 4,039,502 3,463,736 575,766
J| 4,033,613
Al 5,889
=& EH Q@A 67,066 67,066 0
J| 67,066
LEQY YR (+EMLSESIH) 67.066 67,066 0
J| 67,066
+ERY Eynel AY 67,066 67,066 0
J| 67,066
207 A S OH 4| 67,066 67,066 0
J| 67,066
01 24| 67,066 67,066 0
O'128 f£AAS2A OlHEI 24 60,000
J| 60,000
OHiEAZAIE ZLIHE 9 7,066
J| 7,066
HEeEss(std ) 3,972,436 3,396,670 575,766
J| 3,966,547
Al 5,889
IEPENHIEEPEEEEDD 3,966,547 3,390,000 576,547
J| 3,966,547
ZTZot+HelAE 747,096 1,457,000 A 709,904
J| 747,096
404 2128 E2 747,096 1,457,000 A709,904
J| 747,096
01 2I)|IYEEIHN=2ANES 747,096 1,457,000 A 709,904
O Fot=Held ZSX AL 666,253
Jl 666,253
OO OIsotx=% HHIAY 52,554
J| 52,554
O&J| Ot=2dts=& HHIAY 28,289
J| 28,289
o= 3,219,451 1,933,000 1,286,451
J| 3,219,451
404 BIILNZHES 3,219,451 1,933,000 1,286,451
J| 3,219,451
01 2I)|HYEEIHIN=2IEZ 3,219,451 1,933,000 1,286,451
O & F=(CS0s XMelAl& 473,718
J| 473,718
OF2(9, 1027) ot=21 HUIAMY 899, 149
J| 899, 149
Odtx=XelHYAPA Sl HALS 667,838
J| 667,838
O X (3, 42F) ot=2D){ HHIALY 276,183




2A: 3H
o

HM: HPES (A
S HEHAHXNES (=EMAHAEL S AH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %Eﬁ HRE2
J| 276,183
O=Y(3, 1087) ot HHIAMY 169,612
J| 169,612
Oodl=2{&ZH| BTLAIY A2z 732,951
J| 732,951
SIS (AN ELESH) 5,889 6,670 A 781
HMX=2(22W) 5,889 6,670 A 781
802 BtEtZ2 DI Ef 5,889 6,670 A 781
01 2DEX3EtaE =2 5,889 6,670 A 781
O'1ME x=ZEEEH O|HEI S 5,166
OHiEA&ZAIE 2LIHYE 9 723




